347-000013

Occident design
ASSEMBLY INSTRUCTION

-Please read the instruction manual carefully before using the furniture.

-Please assembly strictly in accordance with instruction.
-Only with a rag or slightly damp cloth to clean the surface of the furniture,do not use

strong adrasive cleaners.
-Use mismatched hardware may cause damage to the product,make sure that all kinds of
hardware accessories specifications prior to installation.

B 1PC C 1PC D 1PC E 2PCS 2PCS
(ﬂ’ %
G 1PC H 2PCS 1 4PCS 2 4PCS M8*20 24PCS
© |e==| N | T ®
4 M8 14PCS 5 2PCS 6 1PC 7 1PC 8 [M8*40 14PCS M8 14PCS
10 24PCS 11 24PCS 12 12PCS 13 1PC 14 1PC
WARNING




3 [M8*20 8PCS

3 |M8*20 8PCS

8 [M8*40 8PCS
9 [M8 8PCS

3 [M8*20 8PCS

3




	页 1
	页 2

